Math 7A: Unit 2. Test
SAMPLE
100 points Name:

CIRCLE T FOR TRUE, F FOR FALSE.

42x-1)
£23

@ F (1) Factoring, 8x/3 —4x723 simplifies to
T @ (2) The expression (x+1)(x-1) + (4x3- 7x2 - 6x + 1) is factored.

3/2
@ F (3) Simplifying completely: (25a2b3) =1254°p°"2
8.2

' 40x "y 53
@ F (@) ———=2_
) 32x3y 71 48

(T } F (5) f(x) = x3-x is an odd function.

Fill in the blanks.

3y X233
(6) Using the definition of absolute value, |x —3| = {x( 3 Z; ” X<
~(x~3) i 3

(7) Simplify. Express answer using only positive exponents(7a3b) (2a‘3b6) l L\' b

(8) What is the average rate of change of f(x)= 3x+1 3
(9) Simplify ‘2‘:1/% -3 La-rz, T p—

(11) Simplify:

- 1 _ 1
x> )’3 ﬁj 1 2 3
1_1 -

@ x y X; > ® 5 (x+3)7  12-9

3
S K- =2(¢-3)¢3(x+3)

(43)*(x—3)
_ e xytX
- \1——\:;‘\{"” x"+ X + G
(x43)*(x-3)

(12) Find the domain. Express answer in interval notation:

(@) f(x)= # () gx)= V7-% |
denom £ 0 radicerd 2 2
16 2x =2x"# O 7“537"
(S - K\LB"' 3(\ i \ -
“MJl - E o ? r —M 1
X £ 5,~%. (’Q"l ?5“( % 5,)(/(5_,’%) (-%,1



{13) An isosceles triangle has a perimeter of 10 cm. If the length of each of the equal
sides is x, express the area of the triangle as a function of x. Simplify

if two sides cre x ond the permete— s 10 -\-hen
X&Xt+hb =(o S0 b=l0o-2x

ToFind bt : 5 .
x h*+(5-x1"=
kﬁ ht= X*—(5-x)* = l0X-25 = 10x-25

L 7 S_x
0-2x So Area= ftbh = ‘L(lo 2x)Viox-z2g (S—X)V/OX )
(14) Find the center and radius of the circle: x2+y2-4x+y-1=0.
x> -fx ' l-y = | Center (2,-14)
Todxtg 2y Ryt oo 1Rl o e
- - 2 N
(X )—] 1"‘/# - [/1,) = -q_—(
2x+3 if x<-2
(15)  Graph |x|+l if ~2<xs1 Show axes and scale. Label coordinates of 2 points
.______—-——‘—_-_ a—
Jx-1 ifx>1
on graph- . Make it clear np onks

at ends are n¢ (qdcvl o nol -

(16) Rewrite f(x) as a piecewise function, using the definition to remove the absolute value bars.
Then graph the function.

S (x)=[of - 2x 2% X3 x 4 x30
+x) = Ixl-2x = X BT Xz 1

g”_’f’f””?";’;\x”"‘"'“s‘““{"”’;”"j{“"’;’"“_’; N=X=2Xx {:\( “ D "3 %\ 7C X0




(17) Factor Completely:

(a) 2a®-128 (b) 2xa+3a-8x-12
[ VENSENSERSS By WIS )
2(a°-064) a(2xr3) -4 (&3]
Q/@Z)a"‘(}) (-« ) 2x+3 )

2 (a%-4)(a* +4a i)
2(a-2\lat+2\(G* 43+ 1¢)

(€) 3x2@x+4) 2 +x302(3x+4)3 (d) X172 -7x 12 4 125 -3/2
-3/ 2_
Bx* (3x+w [ (BxF4) + 2x] e kF-Txraz)
3x%(3x +a\(BX Fu) (x=3)(x-4%)
K3/z_

(18) Solve. Express answer in interval notation. Show all work. No credit given for improper

method.
(a) [2x-3|>4 (b) 12-x-x250
-
x-F>4 o Zx-3c-4 (4+x)3-x) >0 Nead sgnetar F
2¢>7 2ve | ' 5“ { r‘! -
x>, e, w3
oo | (=4.3)
(QO/ /&)U(%‘M)
(19) Solve.
(a) (x-3)(2x+1)=4 (b) 3x2—%x-2=0
2x%* 5X -3 >4
25(1 SK 37_ o LDXL")("L@ = O
(2x -7)(x+) =& x= EVT-aEn _(209p

[
. V2.
Xz 7/2‘—‘
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(20) Find a function which represents the distance between the point (2,-1) and a point on the
graph of y=x?

LEf“(K \/) (X)&,)b(’ary POW"OV\ Ld_:,XL Col
TThen disk <,y 03] s dek VO F Gy V&)

(21) Simplify: (5 pomts each)

B

@ 241+x - 1/—— VAX ) g(x s 2x+ )2 - 2x+ 1) P2k
_ ) l1+x m (x? +4)? ‘
14 ~/3
2 =X 5 (@) 7 [ ctr- BxCerin)
ClbxP ™ (X Fy)™
DX 2(— Sx* = 3K+ o
¢ LX) 32X > o

(21) Using the graph of f(x) below, find

- 2—- =T “ L
@) L
0) #0) -2 __

(-4,3)

(c) For what values of x is f(x)<0 Vs

(e) What is the y intercept of f? -3

(f) Domain of f: [t b j
(9) Range of f: E—‘}l %3

(0,6)
(-, 0) ;

(i) On what interval is f increasing?

(j) On what interval is f decreasing?
(k) What is the absolute maximum value of f(x)? _____}

() What is the absolute minimum value of f(x)? ______

(m) Sketch the graph of y =lf(x)|



